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The figures in the lefi-hand margin indicate full marks.

Candidates are required to give their answers
in their own words as far as practicable.

2x4=8 LI ALY e dan,l g e aal L
A yail) GBI izl SISl ()
9JaiJ| Jaa X RYR) ¢JLAJ.|| u.\..\nl,o (ii )
A palls o] ST 8 punaliall o il oy el S o Gl
Lyl was"euy 3 " Jsally Lipadl e iai il (iv)

¢ Nsall

Lo gats Ll ey (8 “peiio LT L7 G sl pallle (V)
¢ e i)

¢ gl o4l oo puall =S 85,3 s s (Vi)

oo ebalin 3 elad” ey 3 el il gbla i W e (vid)
I FEN

[ Turn Over |



[4]
7x2=14 I U 9 e i) 6 e ]
c il ¥ ala e it Lt N8 ,K0 Lo ()
Sl oY aadll Jirw SV Doghiall adle wiS) (i)
ol
Loghiall Lolgn 59a3 I QoS 5,0l e &aas (i)
comolall ¥ a6 S5 e L a7
eiall "o N gall s h pall s o plaiall LaMa ST (i)

oLal (s sSiall ol yaidlf oy wnty ol e & ye Ui i€
8x1=8

sadlod )
oall Jallgl (i)
il i)

570/Arb.

[3]

ligo 32 25l Lhn J 515
elgilio s gaie Ja s

ES FYXERER ERTTR
Leua ol sl JS a6
s Yy lin els ¥y Lass s
Lakalasoly YLy culiy

o8 Y e JS e cpnial L

JMsmally gl diis
ol 4d g, Nl s
JLaS b il le ol s
sl 3 laC g5 pubis

150 Eue el uiil) LI
Lo S Lo 55 ol gl
shsue dlsa 5all Gl
o sill i ol gt i

plicall draa b L Lobytlgeny
pilgalspasll L sl Lic il
gl aall Lo gsdlic ael
Bl pa pla WS o ol el

Iali s 3 e Jo¥
Jbos Gsdadd shas ol
Jleadls iSall daglt (le
JIadl o S b aalll Jusy

[ Turn Over |

5k cpaclidl Syl liag
i gk ol sl 1S
b gia LAl 8o
Lo il Jid g saaal e

7x2=14 = 3lually Glodl S0 LI 0l o il 6T 8l 3.

(i)

(i)

(iii)

(iv)

570/Arb.



